/ 1) aAXNTF NRinEBEEA
TA AT S =iEsEEA 200mg [NP]
T4 A7 =miEEsEH 400mg [NP]
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(BRI EHARE)

5 1 [\
5 2 [\
5 3 [\
5 4 [A]
55 5 [A]

BRAEFEROBIE

20094 H 6 H~20094 9 H30H
20114-4H 1 H~20114 9 H16 H
20134-4H 1 H~20134 9 A 4H
2016 -5 H 2 H~2016 410 19 H
20194-7 H 16 H~ 2019 - 12 F] 10 H

(AERE)

YR 2 E O RIEERE 2 © O B FERRGUERERIA L D 38t FELzxF2 Y
Vit T P v ERE (MRSA) 2w, 74 275 =Y (TEIC) KUy a~v4 ¥

v (VCM) it o HEBIRRE A2 FiE L 7=,

(FAZ#HR)

MEHIFICBEWTTA a5 =y KONy a~ A > ViittERE IZERD 5 3. MIC 3

MMy 2 i3 onhsnr-7, (F1, F2. E1)

%1 MIC range XU MIC MIC : ug/mL
W (BRE) A MIC range MICs, MICy, MICy,
TEIC 0.25 — 8 1 1 2
#1108 |MRSA (330 #k)
VCM 0.5—2 1 1 1
TEIC 0.25 — 8 1 1 2
#5210 | MRSA (360 #)
VCM 0.5—2 1 1 1
TEIC 0.25 — 8 1 1 2
3 |MRSA (390 ¥k)
VCM 0.5—2 1 1 1
TEIC 0.25 — 8 1 1 1
%40 [MRSA (200 #k)
VCM 0.5—2 1 1 1
TEIC 0.25 — 8 0.5 1 1
%510 | MRSA (200 #)
VCM 0.5—2 1 1 1
% MICs «+** 50% fe/NFEE BELIE s
% MICqg «*** 80% fre/INFEE BELIE s
% MICqy «*** 90% fre/NFEE BELIE s pes




£2 MICHHRV MIC BIESHHER (ER=HKH. TR=%3E %)

e 551 [l
Mie = 0.06| 0.12 | 0.25 0.5 1 2 4 8 16 32 64 128 | > 128| AWt
(pg/mL)
TEIC 0 0 8 137 136 34 13 2 0 0 0 0 0 330
0.0) | (0.0) | (2.4) | (43.9) | (85.2) | (95.5) | (99.4) [(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
VeM 0 0 0 70 250 10 0 0 0 0 0 0 0 330
0.0) | (0.0) | (0.0) |(21.2)|(97.0) [(100.0)|(100.0){(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
e 55 20|
Mie = 0.06| 0.12 | 0.25 0.5 1 2 4 8 16 32 64 128 | > 128| &Gl
(pg/mL)
TEIC 0 0 1 121 173 46 14 5 0 0 0 0 0 360
0.0) | (0.0) | (0.3) |(33.9)|(81.9) | (94.7) | (98.6) [(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
VeM 0 0 0 54 301 5 0 0 0 0 0 0 0 360
0.0) | (0.0) | (0.0) | (15.0) | (98.6) [(100.0){(100.0){(100.0)|(100.0)|(100.0){(100.0){(100.0)[(100.0)
o 5 3 1m]
Mie = 0.06| 0.12 | 0.25 0.5 1 2 4 8 16 32 64 128 | > 128| &Gl
(ug/mL)
TEIC 0 0 5 153 159 36 28 9 0 0 0 0 0 390
0.0) | (0.0) | (1.3) | (40.5) | (81.3) | (90.5) | (97.7) {(100.0)|(100.0)|(100.0){(100.0){(100.0)[(100.0)
VeM 0 0 0 89 293 8 0 0 0 0 0 0 0 390
(0.0) | (0.0) | (0.0) |(22.8)|(97.9) [(100.0)|(100.0){(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
o 5 4 0]
Mie =0.06] 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | > 128| A&l
(pg/mL)
TEIC 0 0 3 79 101 7 6 4 0 0 0 0 0 200
(0.0) | (0.0) | (1.5) | (41.0) | (91.5) | (95.0) | (98.0) [(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
VeM 0 0 0 49 150 1 0 0 0 0 0 0 0 200
0.0) | (0.0) | (0.0) | (24.5)|(99.5) [(100.0)|(100.0){(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
o 555 n]
MIC =0.06] 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | > 128| &&lF
(pg/mL)
TEIC 0 0 8 107 78 1 5 1 0 0 0 0 0 9200
0.0) | (0.0) | (4.0) | (57.5)|(96.5) | (97.0) | (99.5) [(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)
VeM 0 0 0 85 110 5 0 0 0 0 0 0 0 200
0.0) | (0.0) | (0.0) | (42.5)|(97.5) [(100.0)|(100.0){(100.0)|(100.0){(100.0)[(100.0)((100.0)[(100.0)




] 1

MRSA (ZX$9 % MIC 25

100.0 100.0
800 800
S S
= 600 & 600
® ®
gif 40.0 // e TEIC g?g 40.0 e TEIC
20.0 ; / VCM 20.0 ﬂ VeM
0.0 0.0
I IR T I VD D N VY N D
NV NN
MIC (ug/ml) MIC (ug/ml)
100.0 100.0 I/
800 800
S S I
= 600 = 600
#® % l
% 40.0 a— TEIC % 40.0 // e TEIC
20.0 / VCM 20.0 V VCM
0.0 0.0
VYo D N VN D YD D N VYN B
QY RSN
MIC (ug/ml) MIC (ug/ml)
100.0 /:f
800
/
= 600
- //
#& 400 e TEIC
Bk
20.0 VM
0.0 -

YD L N Y N B
MIC (ug/ml)




